1.1 Provide the correct term for the statements below.
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SECTION A
QUESTION 1

1.1.1 The total value of goods and services produced in a country in a year.

1.1.2 Measuring the non-economic aspects of a country’s development.

1.1.3 An economic index used to measure the gap between the rich and poor in a
country.

1.1.4 A primary resource which has been processed into a product that can be sold.

1.1.5 Global partnerships to reduce poverty adopted at a summit in September 2000.

1.1.6 When resources are managed wisely for future generations.

1.1.7 This happens when the manufacture of a product is done under contract by an
outside company. :

1.1.8 A model that identifies 5 stages of economic development.

1.1.9 An imaginary line that separates the rich north from the poor south.

1.1.10 An unregistered and unregulated sector of the economy.

(10)

PAGE 1 OF 4




1.2 Study FIGURE 1 in the addendum that depicts a less developed
country before and after globalisation and answer the questions.

1.2.1 Explain the term globalisation. 2
1.2.2 Provide one piece of evidence from the figure to indicate that globalisation

has occurred. ' 2
1.2.3 Refer to panel A in the figure and indicate which millennium goal has

been reached by the establishment of the factory. 2
1.2.4 The management headquarters of the factory in panel B is in the USA.

What would you call the factory in this country? 2
1.2.5 If the factory produces products for the export market,what form of

development will take place in this country? _ 2
1.2.6 Discuss THREE negative effects of globalisation

in this country. 6

(16)

1.3 Read the case study FIGURE 2 in the addendum and answer the questions.

1.31. Name the type of aid given by the Americans to Haiti. 2
1.3.2 Discuss one advantage and disadvantage of this type of aid(answer to 1.3.1) 4
1.3.3 Describe the role of women in the development of Haiti. 2
1.3.4 Give evidence from the extract that suggests that gender equality is being
promoted in Haiti. 2

1.3.5 “Frene Ginwala has made a great contribution to South African society”

1.3.5.1 What was her portfolio in the National Assembly? 2
1.3.5.2 What did she do for the South African society? 2
1.3.5.3 List 2 qualifications of Frene Ginwala. 4
1.3.5.4 Mention 2 awards that Frene Ginwala achieved as recognition for her
contribution to South Afiican society.
4
(22)
1.4 Refer to the table FIGURE 3 in the addendum showing Sou;ch Africa’s
External Trade and answer the questions.
1.4.1 Differentiate between balance of trade and balance of payments. 4
1.4.2 State the year when South Africa’s imports were the greatest. 2
1.4.3 What was the amount exported for the year 2007? 2
1.4.4 Does the trend depict a favourable or unfavourable trade balance between
2009 to 20107 Give a reason for your answer. 4
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1.4.5 Provide 2 reasons for the increase in exports in 2010 compared to previous

years. 4
1.4.6 A large amount of exports has been in the manufacturing sector for the year
2010. What is the advantage of exporting manufactured goods? 2
1.4.7 Evaluate the importance of international trade to South Africa’s economy.
(2 points) 4
(22)
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SECTION B - MAPWORK
QUESTION 2

2.1 Refer to the map extract 3126DD Queenstown and answer the questions.

2.1.1 Identify the height of the A in C5.

2.1.2 Write down the scale of the map as a word scale.

2.1.3 Calculate the straight line distance between A293 (C5) and 1290 (B6)

2.1.4 Give the cardinal direction of 1290 (B6) from Bowkers Kop (C5)

2.1.5 Explain what the figure 3126 means.

2.1.6Identify the type of slope and give a reason for your answer at:

2.1.6.1 A (A6)

2.1.6.2 B (B4)

2.1.7 Calculate the area of the demarcated block A5

2.1.8 Calculate the grid reference of A187 (C6)

2.1.9Calculate the true bearing of #1290 (B6) from A293 (C5)

2.1.10 Calculate the magnetic bearing for the year 2011.

True bearing =240° , Magnetic declination = 25°21° W 2

(30)

NN WNN

2P L ow o

SECTION B = 30
TOTAL 100

GEQWWWSKDMWWYﬁHGl

DEPARTMENT OF H9%
H.O0.0. MR D HAMASAMN

PAGE 3 OF 4 7 &%;wﬁ;




FIGURE 1

A

¥
vy

st

: i M |

e

= o
-

L

2%,
W
. e iy
s A 2 Wice b '
) S Y R 2 ——
AN '/ ‘

. A &
v "~ -] i‘;‘ * . Q o~
2 . v s mm‘“"_‘ ¥ ] ~
e iy SR " a g [ 4
?‘/ﬁ’:"ﬂ;‘:} " W"',ﬁcl’./ﬂ"'l":"%;" ,'//‘ ."', ‘ & 4 w/ b“ "0 Vﬁ" T ‘54‘ [-:r TR g :
g : AR ‘ g X 7 W 3 i 3 %71 > S ! = < . T e
ko NN SO NNz e oy
i U T2 FRR e v T NN o BTV D ()2
tﬁgfa/ﬁ ez inban M T et (1 FhiL LBy
» lz/ig :'B Filllllz 5'!11 MH v sl Em e \ ‘ 7777
s i;” sl gl i T maniemmiens / /]
R L [EREN.

5 Tk

\\\\ e e

‘ ”
4

I

" FIGURE 2

CASE STUDY: Money in the bank

After the 12 January 2010 earthquake in Haiti, Americans gave almost $2 billion through
different charities, towards relief aid. The earthquake killed over 200 000 people and left
more than one million homeless. Aid in the form of food parcels was given to women, who it
is believed are more caring in ensuring that their children are fed.

However, various claims of corruption and the selling of food on the black market have |
been made. The mayor of Port au Prince, the capital of Haiti, has been accused of bribery

and corruption. Recent reports show that the money sent by many charities has not been

spent and is still in the bank. Sixty American charities were surveyed by The Chronicle of
Philanthropy. The outcome was that more than 60% of the $1,5 billion they have raised as

funds for the Haiti earthquake was still in the bank.

[Source: Adapted from: Reuters, 2010 and 2011

FIGURE 3

2006 2007 2008 2009 2010
Export 126.1 142.9 90.2 163.9 208.4
(Rm)
Import 115.5 129.7 89.8 146.1 186.3
(Rm)
Trade 10.5 13,2 0.3 17.9 22.1
balance
(Rm)
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